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Note:

er. Each gesiton carries one mark. 15x1=15

Choose the Correct ansW . ‘ : )
nal to 8quare of velocity, then the dimension of

1) If the force is proportio

proportionality constant is
a) [MLT®] b) [(MLT '] ¢) [ML-2T] gy ML1T°]
2) If AxB =AM, thenthe angle bg!?tween the two vectors is equal to
a) "’;, b) K/.q c)n 8) ero
3) The work done by the conservalive force for a closed path js
L) zero c) always positive  d) not defined

4

5

) A couple produces

a) always hegative
Which of the following is correct?

a) Roliing friction is less than kinetic friction

b) Angie of repose is equal to anale of friction

¢) The frictional force is actually the electro magnetic force between the

atoms on the two surfaces
d) All of the above

S

a) pure rotation b) pure translation c) rotation and translation d) no motion

6) If the acceleration due to gravity becomes 4 times its original value, then

8) In areveribie process,

10) A spring is connecte

) The reynoids number for the liquid flow is 1000, it is

9) If the temperature an

escape speed
a) remains same
c) becomes halved

b) 2 times of original value
d) 4 times of original value

a) turbulent b) unsteady c) stream line ~ 4d) all of the above
the efficiency of heat engine working between 100°C

and 300°Cis

a) 48% b) 52% c) 22% d)44.5%

d pressure of a gas is doubled the mean free path of

the gas molecules

a) remains same  b) doubled c) tripled d) quadrapoled
ded from it and its time period for

d to a mass 'm' suspen _
vertical oscillation is T,. The spring is now cut into two equal halves and the
same mass is suspended from one of the halves. The period of vertical

oscillation is
T T. y - _ 5
a)T, = %2 b) T, = % AT, = 2T NT,= //5

e which is closed at one end, will be in resonance with

11) Anair golumn in a pip . ‘
the vibrating body of frequency 83 Hz. Then the length of the air column is
12) When temperature of a liquid inereases, viscosity of tije liquid

a) increases b) decreases ¢) become zero 4) remain the same
13) Inthe given p-V diagram for a PT o

thermodynamics process, ¥ o D

ork done in one cycle is , 2 a[i:_‘;j
2)43 b) 2 R
d) 1J [ 2 vy ("‘1};

c) 3] | .
14) Which of the following

ot be reprgsented by a scalar?
e of acceleration

m a tall building
ds Earth, their

physical guantities cann
) | d) magnitud
55} b) length ¢) momentum .
:)b,:ﬁ of mass )1 kg and another of mass 2 kg are dropped fro
whose height is 80 m- After @ fall of 40 m each towar
respective kinetic energies will be in the ratio of

e e | o

. 1:2 ¢
Kmdﬁl’send me your questions and answerkeys to us : Padasalai.net@gmail.com

U

i


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net 2 www.CBSEtipgi2=12
V11P Part - 11
Answer any six of the following questio/*
swer the Questions no. 24 compuysprily-
7)) what areé scalars and vectors?
3 what iS IN€rtig of motion? Give ong gxample.
Defin€ the term work in Physics,
tate the law of conservation of angular momentum.
20) Defin€ gravitational potential ene;gy.
1) staté HOOke's law in elasticity.
52) writé the statement of Zeroth lay, of thermodynamics.
23) what IS simpje harmonic motion? !
24) In a horizontal pipe of nor-unifgrm cross section, watér flows with a
vefocity of 1 ms~! when the diameter of the pipe is 20 cm. The velocity of
wateris 1.5ms™ !, find the diametgr of the pipe.

Note: i)

PaftIII 6)’-31'18
Note: i) Answer any six of the following questions.
i), Answer the questions no 33 compulsofily. '
25) What are the limitations of dimensjonal analysis? |
26) Write about Impulse.
27) State and prove work-energy theorem.
28) Obtain an expression for rotational Kinetic energy of a rigid Body about an ax/5
29) Derive the formula for time period of satellite orbiting the Earth.
30) Mention the practical applications of gapillarity.
31) State Boyle's law and Charle's laws Using it obtain the ideal gas equation.
'37) Derive an expression for velocity of a particle in Simple Harmenic Motion.
33) An object at an angle such that the horizontal range is 4 times of the
maximum height. What is the @ngle of porjection of the object.

Part - IV SN 5x5=25%
- /i Answer all the questions.

N0t8'321) :] Obtain an expression for the time period 'T' of a simple pendutlutn.FT&e
time period 'T' depend upon (i) mass 'm' of t_he bob. (ii) length'¢'of the
pendulum and (iii) acceleration due to gravity 'g' at the place where the
pendulum is suspended. (constantK = 2m) ) (OR)

bl Derive the expression for moment of inertia of a rod about its centre and

perpendicular to the rod.

35) a] i) Write any four propérties of vector product bgtween two yecForsn
' i) A particle moves in a circle of radius 10 m. Its linear speed is given by
» = 3t. Where t is in second, v is in ms™1. Find the centripeta! and

tangential acceleration at t = 2 second. (OR)
b] Derive an expression for escape speed.
e

’ . (] P / ”l " / , OR)
36) al Derive the Meyer's relation, C,-C,, = R for an :de_a! gjs. (‘ |
b] Arrive 33 expression for vel&:ities of two bodies Undergoing perfect

astic callision in one dimensign.
’ . i GG n-
State and prove Bernouilli's theorem for a flow of 'n‘%mp"“‘”'ble’ no

viscous and streamlined flow'gf fluid. | tionyu (OR)
b] Discuss indetail the energy in imple harmonic motien. =

: , B ain
i) Desdribe Newton's formula for velocity of sound wais in ai

[ i m and 6 m pr@pagates in a gas
i) Two Sound waves with wavelengths 5 X ber 48 pats o secone:

withia velocity 330 ms™1, Calculate the nu |

(OR . .
it o oy S s DR
an inclinédplane. Hence obtain exP

Kindly s¢hd rh@%_:r questions and answerkeys to us : Padasalai.net@gmail.com

37)

38) al
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